
DIRECT AND INVERSE PROPORTION
[ESTIMATED TIME: 70 minutes] GCSE

(+ IGCSE) EXAM QUESTION PRACTICE

A ball is dropped from a tower.

After t seconds, the ball has fallen a distance x metres.

x is directly proportional to t2.

When t = 2, x = 19.6

(a) Find an equation connecting x and t.

...........................

 (3)

(b) Find the value of x when t = 3

x = ...........................

 (2)

(c) Find how long the ball takes to fall 10 m.

........................... seconds

 (3)

1. [8 marks]
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The amount of petrol a car uses is directly proportional to the distance it travels.

A car uses 3 litres of petrol when it travels 50 km.

(a) Work out the amount of petrol the car uses when it travels 125 km.

..................... litres

(2)

(b) Work out the distance the car travels when it uses 5.7 litres of petrol.

........................ km

(2)

2. [4 marks]

3. [4 marks]
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4. [5 marks]
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5. [6 marks]
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6. [6 marks]
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7. [5 marks]
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8. [5 marks]
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9. [5 marks]
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10. [5 marks]
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11. [6 marks]
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12. [9 marks]
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13. [4 marks]
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